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@Reasoningbybasantsir

Statements:
PSQ<R=S8,S<TZ2U0,U>V=W

Conclusions:
I.P<T
II.S=W

1) Only conclusion I follows

2) Only conclusion II follows

3) Either conclusion I or II follows
4) Neither conclusion I nor II follows
5) Both conclusion I and II follows



IBPS 2024 Practice Statements:

P2Q;:T=U;R<S<T;R>Q

Conclusions:
I.P>R
II.S>U

1. Q<T

1) Only 1 is true

2) Only I1 is true

3) Only III is true

4) Either I or III is true
S5) None is true

' @Reasoningbybasantsir



IBPS 2024 Practice Statements:

B>AZ2T2S;T<K=PSM

Conclusions:
I.S=K
II.S<P

1. A>M

1) Only I is true

2) Only I1 is true

3) Only III is true

4) Either I or III is true
S) None is correct

' @Reasoningbybasantsir



IBPS 2024 Practice Statements:

CSP;P<Q;:Q=F;B>C;G2Q;:0Q0>0

Conclusions:
I.F<C

II. F >0
II.P<F

1) Only III is True

2) Only I and II are True
3) Either II or II1 is True
4) Only II and III are True
S) Only Il is True

@Reasoningbybasantsir
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@Reasoningbybasantsir

There are 8 people— P, Q, R, S, T, U, V and W who
stay on S floors (numbered 1 to 5) of a building.
There are two flats on each of the five floors out of
which two flats are vacant. The flats are numbered 1
and 2 on each of the floors and are left to right on
the floor respectively. The flat number1 of floor
number?2 is exactly above the flat number1 of floor
numberl and so on. P lives above Q that's why they
share the same flat Number. Flats which are empty
do not have the same flat number. W lives on flat
number 1 of floor number 1. There is one floor
between floors of W and R. Q lives on floor which is
immediately above R. T lives immediately above V. P
and T share the same floor. There are 2 floors
between P and S and they live in the same flat
number. S lives on one of the floor which are
immediately above an empty flat. P, Q and W share
same flat number.
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] @Reasoningbybasantsir
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@Reasoningbybasantsir

P lives above Q that's why they share the same flat
Number. Flats which are empty do not have the
same flat number. W lives on flat number 1 of floor
number 1. There is one floor between floors of W
and R. Q lives on floor which is immediately above
R. T lives immediately above V. P and T share the
same floor. There are 2 floors between P and S and
they live in the same flat number. S lives on one of
the floor which are immediately above an empty flat.
P, Q and W share same flat number.

Who lives on flat number 2 of floor number 4?

Empty

el g e B

Q
S
T
\Y
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@Reasoningbybasantsir

P lives above Q that's why they share the same flat
Number. Flats which are empty do not have the
same flat number. W lives on flat number 1 of floor
number 1. There is one floor between floors of W
and R. Q lives on floor which is immediately above
R. T lives immediately above V. P and T share the
same floor. There are 2 floors between P and S and
they live in the same flat number. S lives on one of
the floor which are immediately above an empty flat.
P, Q and W share same flat number.

W shares floor with which of the following?

1. S

2. U

R Y%

4. No one

S. Cannot be determined
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' @Reasoningbybasantsir

P lives above Q that's why they share the same flat
Number. Flats which are empty do not have the
same flat number. W lives on flat number 1 of floor
number 1. There is one floor between floors of W
and R. Q lives on floor which is immediately above
R. T lives immediately above V. P and T share the
same floor. There are 2 floors between P and S and
they live in the same flat number. S lives on one of
the floor which are immediately above an empty flat.
P, Q and W share same flat number.

Four of the following five are similar in a certain

way and hence form a group. Find the odd one out.
1. PV

2. QR
3. VR
4. WU
5. SR
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@Reasoningbybasantsir

P lives above Q that's why they share the same flat
Number. Flats which are empty do not have the
same flat number. W lives on flat number 1 of floor
number 1. There is one floor between floors of W
and R. Q lives on floor which is immediately above
R. T lives immediately above V. P and T share the
same floor. There are 2 floors between P and S and
they live in the same flat number. S lives on one of
the floor which are immediately above an empty flat.
P, Q and W share same flat number.

How many floors are there between the floors of Q
and T?

1. None

2. One

3. Two

4. Three

S. Cannot be determined
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@Reasoningbybasantsir

Statement:

All Pots are Clay.

Only a few Clay are White.
No White are Soft.
Conclusions:

I. Some Clay are not Soft.
I1. No Pot are Soft.

1) Only conclusion I follow

2) Only conclusion II follow

3) Either conclusion I or II follows
4) Neither conclusion I nor II follows
S) Both conclusion I and II follow
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@Reasoningbybasantsir

Statement:

Only a few Red is White
Some White is Black

All Black is Green
Conclusions:

I. Some Red is not White
II. Some Green is Red

1) Neither I nor 11

2) Only I follow

3) Only II follow

4) Both I and II follows
S) Either I or II follows
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@Reasoningbybasantsir

Statement:

Only a few P is Q.
No Q is R.

Some R is S.
Conclusions:
I.AllPis R

II. Some P is not R.
III. Some S is P.

1) Only I follow

2) Only II & 111 follow
3) Only II follow

4) Only I & 11 follow
S) None follows
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<Z @Reasoningbybasantsir

There is family of seven member having three
generations. There are more than four females in the
family. A is the father of B. L is married to the only
son of G. L has an unmarried sibling K. B is the
nephew of K. C is the child of A. G is the mother of
A. H is the parent of L.

HTd TSET Rt Ueh URER g faw o= difeat 81 ufar
TR aﬁzﬁnﬁﬂm%l A, B &1 foat 81 L w7 e
G & Feheitd U W gAT 2| LEI-TTQGI-T&T%IH'I'%HQZI'I?K%I
B, K &1 WdITT 21 C, A Y €aW 81 G, A I AT )

H, L % TraT-fer 1



n There is family of seven member having three
generations. There are more than four females in the
family. A is the father of B. L is married to the only
son of G. LL has an unmarried sibling K. B is the
nephew of K. C is the child of A. G is the mother of

A. H is the parent of L.
How is K related to A?

1) Sister - in- law

2) Brother - in- law

3) Son

4) Daughter

S) Cannot be determined

' @Reasoningbybasantsir



n There is family of seven member having three
generations. There are more than four females in the
family. A is the father of B. L is married to the only
son of G. LL has an unmarried sibling K. B is the
nephew of K. C is the child of A. G is the mother of

A. H is the parent of L.
How is C related to G?

1) Grandmother

2) Daughter

3) Granddaughter

4) Sister

S) Cannot be determined

' @Reasoningbybasantsir
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<Z @Reasoningbybasantsir

Nine persons are seated around a circular table and
they all are facing towards the centre. E is not a
neighbour of A and is second to the right of C. 1 is
the immediate neighbour of B. G and I are
immediate neighbours. Four persons sit between D
and B. A sits third to the left of B. D sits second to
the right of E. Five persons sit between C and H. F
sits on the remaining place.

Teh MAThRR A ok IR 2R AT SATh 96 & 3T o AT
éaa?raﬁiwﬁsq I E, A T USET & g 3R C
é;aréaﬁxwwm%l I, Bamﬁmnutcﬁﬁ%l G
ﬁ?lﬁ%ﬂﬂqﬁﬁ%IDaﬁ‘{Bﬁ?aﬁﬂuu =afF S
F1 A, B ¥ a1 & SR T UT A37 R




n Nine persons are seated around a circular table and
they all are facing towards the centre. E is not a
neighbour of A and is second to the right of C. 1 is
the immediate neighbour of B. G and I are
immediate neighbours. Four persons sit between D
and B. A sits third to the left of B. D sits second to
the right of E. Five persons sit between C and H. F
sits on the remaining place.

Who is the immediate neighbour of 1?
01. E

02. G

03.B

04. Both 2 and 4

05. None of these

' @Reasoningbybasantsir
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' @Reasoningbybasantsir

Nine persons are seated around a circular table and
they all are facing towards the centre. E is not a
neighbour of A and is second to the right of C. 1 is
the immediate neighbour of B. G and I are
immediate neighbours. Four persons sit between D
and B. A sits third to the left of B. D sits second to
the right of E. Five persons sit between C and H. F
sits on the remaining place.

Who among the following sits fourth to the left of D?
01. E

02. G

03.B

04.1

05. None of these
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' @Reasoningbybasantsir

Nine persons are seated around a circular table and
they all are facing towards the centre. E is not a
neighbour of A and is second to the right of C. 1 is
the immediate neighbour of B. G and I are
immediate neighbours. Four persons sit between D
and B. A sits third to the left of B. D sits second to
the right of E. Five persons sit between C and H. F
sits on the remaining place.

Who among the following sits second to the right of
F?

01. F

02.1

03. H

04. D

0S. None of these



|Bps 2024 Practice Nine persons are seated around a circular table and

they all are facing towards the centre. E is not a
neighbour of A and is second to the right of C. 1 is
the immediate neighbour of B. G and I are
immediate neighbours. Four persons sit between D
and B. A sits third to the left of B. D sits second to
the right of E. Five persons sit between C and H. F
sits on the remaining place.

How many persons are sitting between B and A?
01.2

02.8

03.6

04.5

05. Cannot be determined

' @Reasoningbybasantsir
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<Z @Reasoningbybasantsir

How many such pairs of letters are there in the word
REPLACE, each of which has as many letters
between them as they have in the English
alphabetical series?

REPLACE 9752 H 37810 < 08 fehaq e 2, e o
Tedieh o el 3a &1 78R B Rra- 37k sfi=r st
FUTHTEAT ST | B 82

(1) One

(2) Two

(3) Three

(4) Four

(5) None of these
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<Z @Reasoningbybasantsir

427

946 738 596 857

If the digits of all the numbers are to be arranged in
descending order from right to left within the
number then which of the following number will be
the third-highest?

Tfe At TEaTenl o 3kt ol EEAT & Wiaw STd | =Ty
AL shA W safkerd forat wimo @t F=feiRga o o
1 e et wed e A

(1) 427

(2) 946

R)NAL]

(4) 596

(5) 857
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<Z @Reasoningbybasantsir

427

946 738 596 857

How many digits are there in the above series
between the second-lowest digit of the third highest
number and the third-highest digit of the second-
lowest number?

IURIH ST | Ao aad Tt TEAT o o 9y B
3ok SR GO TR B HEAT AR AR A 3k
ser e aier §2

(1) One

(2) Two

(3) Three

(4) Four

(5) Five
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<Z @Reasoningbybasantsir

427

946 738 596 857

If all the digits of each number are to be multiplied
within the number and then the numbers thus
formed are to be arranged in ascending order from
left to right then which of the following numbers will
be third from the right end?

T yes d=AT % mﬁ 37ehT SR TEAT o e oM
foraT T 37 R 3@ W &t wieaTatt st aTe & 3T
HET ShH W I A TehaT T at ifaiRaa § &
R | HEIT BT I BR | 9T ghm?

(1) 168

(2) 216

3) 270

(4) 280

(5) 56
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<Z @Reasoningbybasantsir

427

946 738 596 857

If 2 is subtracted from all the odd digits of each
number and all the even digits are halved then which
of the following numbers will be the fourth-lowest?

Tfe yeder wEaT o Tt foraw sient # & 2 wer fear s
3R At T Sfehl okt AT e fea s ar faferRaa
o | i U HEAT =Tt Tad BieT T&AT B2

(1) 373

(2) 435

(3) 514

4) 723

(5) 215



IBPS 2024 Practice

<Z @Reasoningbybasantsir

427

946 738 596 857

If all the even numbers are arranged in ascending
order from left to right after that on the right of
these numbers all the odd numbers are arranged in
ascending order then which of the following number
will be in the middle of the sequence?

f Tt T EEETaT AT A AT SR s

I Ud foRIT SATT 3Tk 1 3 TEATIN ok 315 3N
Tt forem Tieareti st oTRIE! i | gy fora g
a FreafeTRae & o i ©t Tt vy o wed W g

(1) 596
(2) 427
(3) 857
(4) 738
(5) 946
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<Z @Reasoningbybasantsir

How many such pairs of letters are there in the word
“ROADBAND?”, each of which has as many letters
between them in the word as they have in the English
alphabet?

316% "ROADBAND" H 3781 ok UH foha+ IS &, ™0
W TAh o 1 3163 H 3a- &f 378N & (NI 37k A1
TS FUTHTEAT A B 2

(1) None

(2) One

(3) Two

(4) Three

(5) None of these
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<Z @Reasoningbybasantsir

A man walks straight 20 meters towards North then turns to
the right and walks 20 meters. Again, he turns towards the
left and walks 20 meters. Finally, he turns right and stops
after walking 20 meters.

Teh STEHT HTer 3T hT 3R 20 Hie =rerar 7, fo 318 st ggan
T 3T 20 HieX =t g1 98 fo arg st qear § 31X 20 ez
AT B1 31 §, TE T AT & 3R 20 HieT T % IS TR
AT 2

In which direction is he from his starting point?

g Fra e feig @ fora feom w22

(1) North

(2) South

(3) East

(4) West

(5) None of these
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<Z @Reasoningbybasantsir

A man walks straight 20 meters towards North then turns to
the right and walks 20 meters. Again, he turns towards the
left and walks 20 meters. Finally, he turns right and stops
after walking 20 meters.

Uk STTEHT HIEr 3T hT 3TN 20 HieX e &, T 318 o7 Jear
T 3T 20 Wi TeTar gl 98 T 913 3R HSAT 7 3R 20 X
AT §1 374 H, TE ST¢ HAT § 3R 20 et oot & °1E T
HATAT B

How many meters did he cover from his starting point?
g o wifes foig & foraw et it g aa w82

(1) 50 meters

(2) 80 meters

(3) 110 meters

(4) 120 meters

(5) None of these
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<Z @Reasoningbybasantsir

The position of how many digits in the number
‘49615382’will remain unchanged after the digits are
rearranged in ascending order within the number?

TTEAT '49615382' | 3T Shl ARET v H UH: SqI T
T 3 e AT ¥ A ot Y Rufy sufafia
TAMT?

(1) One

(2) Two

(3) Three

(4) Four

(5) None of these
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<Z @Reasoningbybasantsir

Eight persons- S, T, U, V, W, X, Y and Z are sitting in a
straight line. Some of them are facing north while some are
facing south. The person facing in the same direction does not
sit together. S is sitting second to the right of V and X is sitting
second to the left of V. T faces in the same direction as Z.. U
faces in the south direction and sits at one of the extreme ends.
T sits second to the left of Y. V sits between Y and T. W is
sitting to the immediate right of S and S is sitting third from
one of the ends. X is not an immediate neighbour of U.

A ARR-S, T, U, V, W, X, Y 3T Z Uk Hieft War | 93 81 3990
ﬁmwwwaﬁaﬁt%maﬁswwwafwaﬁaﬁ?%l
wﬁmﬁwwwﬁw—qﬁswwqﬁm% S,V
éaaéaﬁiaﬁwmam%aﬁix Véaavs‘aﬁ'{aﬂ%wm
ST T T H@ Z % wa e # {1 T, Y % a1 o1 gay s
WASTRIV, Y 3R T H A T 43181 W, S % dter 210 i AaT 2
gﬁ'{swaﬁ'{ﬁ?ﬁﬁwméﬂ% X,Uwﬁmq@'{ﬁqﬁ
|



IBPS 2024 Practice

' @Reasoningbybasantsir

Eight persons- S, T, U, V, W, X, Y and Z are sitting in a
straight line. Some of them are facing north while some are
facing south. The person facing in the same direction does not
sit together. S is sitting second to the right of V and X is sitting
second to the left of V. T faces in the same direction as Z.. U
faces in the south direction and sits at one of the extreme ends.
T sits second to the left of Y. V sits between Y and T. W is
sitting to the immediate right of S and S is sitting third from
one of the ends. X is not an immediate neighbour of U.

Who is sitting second to the left of Z.?

Z < 9TE ¥ TEX TAT UX hi 93T 82

v

Q)Y

Q)X

@HT

(5) None of these
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' @Reasoningbybasantsir

Eight persons- S, T, U, V, W, X, Y and Z are sitting in a
straight line. Some of them are facing north while some are
facing south. The person facing in the same direction does not
sit together. S is sitting second to the right of V and X is sitting
second to the left of V. T faces in the same direction as Z.. U
faces in the south direction and sits at one of the extreme ends.
T sits second to the left of Y. V sits between Y and T. W is
sitting to the immediate right of S and S is sitting third from
one of the ends. X is not an immediate neighbour of U.

In which direction is X facing and who is sitting to the
immediate left of X?

X =1 9@ fordt foom & § 3R X o ek 918 3T i J6T 72

(1) North, Y

(2) North, Z

(3) South, Y

(4) South, Z

(5) None of these
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' @Reasoningbybasantsir

Eight persons- S, T, U, V, W, X, Y and Z are sitting in a
straight line. Some of them are facing north while some are
facing south. The person facing in the same direction does not
sit together. S is sitting second to the right of V and X is sitting
second to the left of V. T faces in the same direction as Z.. U
faces in the south direction and sits at one of the extreme ends.
T sits second to the left of Y. V sits between Y and T. W is
sitting to the immediate right of S and S is sitting third from
one of the ends. X is not an immediate neighbour of U.

How many people are sitting to the right of T?

T ok ST 3T Tohdd STk dS &2

(1) Three

(2) Four

(3) Five

(4) Can’t be determined

(5) None of these



n Eight persons- S, T, U, V, W, X, Y and Z are sitting in a
straight line. Some of them are facing north while some are
facing south. The person facing in the same direction does not
sit together. S is sitting second to the right of V and X is sitting
second to the left of V. T faces in the same direction as Z.. U
faces in the south direction and sits at one of the extreme ends.
T sits second to the left of Y. V sits between Y and T. W is
sitting to the immediate right of S and S is sitting third from
one of the ends. X is not an immediate neighbour of U.

Four of the following five are alike in a certain way and hence
form a group. Find the one who does not belong to the group?
fraferRaa uier % & o Ueh T2 adtch & 90 § 7R 3dieTe
TS AU TG &1 39 AR hl WIS ST TWE o i T8 22
1HU,W

2)V,Y

R)D. Y/

4)S, W

35S, T

7 @Reasoningbybasantsir
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' @Reasoningbybasantsir

Eight persons- S, T, U, V, W, X, Y and Z are sitting in a
straight line. Some of them are facing north while some are
facing south. The person facing in the same direction does not
sit together. S is sitting second to the right of V and X is sitting
second to the left of V. T faces in the same direction as Z.. U
faces in the south direction and sits at one of the extreme ends.
T sits second to the left of Y. V sits between Y and T. W is
sitting to the immediate right of S and S is sitting third from
one of the ends. X is not an immediate neighbour of U.

Who among the following is sitting between W and V?
foafafRaa d @A W iR vV & e se12?

My

2)S

B3)Sand T

4T

(5) None of these



DPS LID DNA PIG KID

If the first letter in each of the word is changed to the
previous alphabet according to English alphabetical
order then how many of them will have only one
vowel?

T Tedieh 3168 ohT UBET ST STUSIT AUTHTEAT shil oh
ATAR fUD 78R | Iaat f3ar e at 390 | TR~ o
ehalcl Ueh T BT

y:

(2)4

3)5

43

51

<Z @Reasoningbybasantsir
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<Z @Reasoningbybasantsir

DPS LID DNA PIG KID

If each letter of each word is arranged in
alphabetical order within the words then how many
words will not be changed after rearrangement?

I Tcdeh 168 oh Ucdieh 3181'{?#[31?}%5 ‘zﬁ?r{armh—pstr
H sgateerd foram STe at qaeaaityd o ¥ g R
Ieq TE TGN ?

M1

(2)3

3) 4

4)0

5)5
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<Z @Reasoningbybasantsir

DPS LID DNA PIG KID

If the first and the second letters in each of the word

are interchanged then how many words will not be
started with a vowel?

a3 Tedreh 3163 o Tl SR TAY T8 i SATIH H Faed
far SiTe At feRa 9758 TR | 1% &1 2R

(1) 2

(2)3

3)0

4)35

51
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<Z @Reasoningbybasantsir

Nine persons S, T, U, V, W, X, Y, Z and A are sitting around a
circular table but not necessarily in the same order. Some of
them are facing inside the centre while some of them are facing
outside the centre.V is sitting fourth to the left of Z. Two people
are sitting between S and V. Three people are sitting between X
and A, who is the neighbour of V.Y is sitting second to the right
of V but not neighbour of S. There are two persons sitting
between U and T. A is not a neighbour of W. Neither U nor T is
an immediate neighbour of Z. W and Y are not neighbours of
each other. According to the moving needle of the clock, S sits
immediately after Z.

T ES, T, U, V, W, X, Y, Z 37T A Tk TeATehT HST o IR 3R
%%ﬁﬁﬂﬁﬁ%sﬁmﬁﬁlmﬁwmw%%
37eT hT TR & TAdleh D mlﬂ'@raﬁﬁw?ﬁaﬁ'{%lV YA XS 1S
S Y T W ASTRI S 3R V e S AT 33 F1 X oK A,
TSIHT , h s AT AT IS 81 V 1 Y, V%HETQ@IQ'H:{WQ'{
ST ATRT S T TS T 81 U 3R T & o1 &1 a1+6 3 51 U
%ﬁ;@ﬁﬁmﬁ% aﬁaﬁaﬁﬁﬂé%m S, Z. % &tk A1
|
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Nine persons S, T, U, V, W, X, Y, Z and A are sitting around a
circular table but not necessarily in the same order. Some of
them are facing inside the centre while some of them are facing
outside the centre.V is sitting fourth to the left of Z. Two people
are sitting between S and V. Three people are sitting between X
and A, who is the neighbour of V.Y is sitting second to the right
of V but not neighbour of S. There are two persons sitting
between U and T. A is not a neighbour of W. Neither U nor T is
an immediate neighbour of Z. W and Y are not neighbours of
each other. According to the moving needle of the clock, S sits
immediately after Z.

What is the position of A with respect to Z.?

Z % TS | A hT TATT T 32

(1) Third to the right

(2) Second to the right

(3) Immediate to the left

(4) Third to the left

(5) None of these
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' @Reasoningbybasantsir

Nine persons S, T, U, V, W, X, Y, Z and A are sitting around a
circular table but not necessarily in the same order. Some of
them are facing inside the centre while some of them are facing
outside the centre.V is sitting fourth to the left of Z. Two people
are sitting between S and V. Three people are sitting between X
and A, who is the neighbour of V.Y is sitting second to the right
of V but not neighbour of S. There are two persons sitting
between U and T. A is not a neighbour of W. Neither U nor T is
an immediate neighbour of Z. W and Y are not neighbours of
each other. According to the moving needle of the clock, S sits
immediately after Z.

If S is a neighbour of U then what is the position of T with
respect to V?

e S, URTUSIET 2 a1 V o T § T T TATH T 22

(1) Third to the right

(2) Second to the right

(3) Immediate to the left

(4) Third to the left

(5) None of these
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Nine persons S, T, U, V, W, X, Y, Z and A are sitting around a
circular table but not necessarily in the same order. Some of
them are facing inside the centre while some of them are facing
outside the centre.V is sitting fourth to the left of Z. Two people
are sitting between S and V. Three people are sitting between X
and A, who is the neighbour of V.Y is sitting second to the right
of V but not neighbour of S. There are two persons sitting
between U and T. A is not a neighbour of W. Neither U nor T is
an immediate neighbour of Z. W and Y are not neighbours of
each other. According to the moving needle of the clock, S sits
immediately after Z.

If T is a neighbour of Y then who are the neighbours of V?

IS T, Y T USIET & AT V T USTET i 22

(1) Uand A

(2)Sand A

B)Aand T

(4) Z and W

(5) None of these
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Nine persons S, T, U, V, W, X, Y, Z and A are sitting around a
circular table but not necessarily in the same order. Some of
them are facing inside the centre while some of them are facing
outside the centre.V is sitting fourth to the left of Z. Two people
are sitting between S and V. Three people are sitting between X
and A, who is the neighbour of V.Y is sitting second to the right
of V but not neighbour of S. There are two persons sitting
between U and T. A is not a neighbour of W. Neither U nor T is
an immediate neighbour of Z. W and Y are not neighbours of
each other. According to the moving needle of the clock, S sits
immediately after Z.

Minimum how many persons are facing outside the centre?
AT o safeh s o STe Y AR 7 fRa gu?

(1) Three

(2) One

3) Two

(4) Five

(5) Either option 1 or 3
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‘Commit also make policy’ is coded as ‘muu yoo laa gua’,
‘policy craze anger mobile’ is coded as ‘kaa hoe jee yoo’,
‘allow make course prize’ is coded as ‘gua nee bon sao’,
‘craze manner also artist’ is coded as ‘the kaa guu laa’

The code ‘bon’ is stand for
<h< 'bon' &hT A 2l
(1) allow

(2) make

(3) course

(4) prize

(5) Cannot be determined
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‘Commit also make policy’ is coded as ‘muu yoo laa gua’,
‘policy craze anger mobile’ is coded as ‘kaa hoe jee yoo’,
‘allow make course prize’ is coded as ‘gua nee bon sao’,
‘craze manner also artist’ is coded as ‘the kaa guu laa’

Code ‘the laa kaa’ is for which of the following?
%< 'the laa kaa' FeferRaa 7 & foraes o 22
(1) manner also craze

(2) also craze artist

(3) course prize also

(4) Either option 01 or 02

(5) None of these
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‘Commit also make policy’ is coded as ‘muu yoo laa gua’,
‘policy craze anger mobile’ is coded as ‘kaa hoe jee yoo’,
‘allow make course prize’ is coded as ‘gua nee bon sao’,
‘craze manner also artist’ is coded as ‘the kaa guu laa’

Which of the following could be the code for ‘mobile’?
FreteTRaa o O hi9 91 'HISTSe’ o 17U Shig &1 Tehdl 8?2
(1) muu

(2) guu

(3) nee

(4) sao

(S) jee
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‘Commit also make policy’ is coded as ‘muu yoo laa gua’,
‘policy craze anger mobile’ is coded as ‘kaa hoe jee yoo’,
‘allow make course prize’ is coded as ‘gua nee bon sao’,
‘craze manner also artist’ is coded as ‘the kaa guu laa’

What can be the code for ‘make policy course’?
make policy course ' o ToTu g T 81 Tehat 872
(1) the guu yoo

(2) gua laa yoo

(3) nee sao yoo

(4) gua yoo nee

(5) guanee sao
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